

Rules for Computing Limits

Math 31B — Darren Creutz

9 April 2010

To evaluate $\lim_{x \rightarrow a} F(x)$ for $a \in [-\infty, \infty]$ (possibly one-sided)

F(a)	Method	$\lim_{\mathbf{x} \rightarrow \mathbf{a}} \mathbf{F}(\mathbf{x})$
#	Direct	#
$\frac{0}{0}$	L'Hopital	$\lim_{x \rightarrow a} \frac{f(x)}{g(x)} = \lim_{x \rightarrow a} \frac{f'(x)}{g'(x)}$
$\frac{\pm\infty}{\pm\infty}$	L'Hopital	$\lim_{x \rightarrow a} \frac{f(x)}{g(x)} = \lim_{x \rightarrow a} \frac{f'(x)}{g'(x)}$
$\frac{\pm\infty}{\#}$	Direct	$\pm\infty$
$\frac{\#}{\pm\infty}$	Direct	0
$0(\infty)$	$f(x)g(x) = \frac{f(x)}{\frac{1}{g(x)}}$	$\lim_{x \rightarrow a} f(x)g(x) = \lim_{x \rightarrow a} \frac{f'(x)}{(g(x)^{-1})'}$
0^0	$\ln((f(x))^{g(x)}) = g(x) \ln(f(x))$	$\lim_{x \rightarrow a} (f(x))^{g(x)} = e^{\lim_{x \rightarrow a} g(x) \ln(f(x))}$
0^∞	$\ln((f(x))^{g(x)}) = g(x) \ln(f(x))$	$\lim_{x \rightarrow a} (f(x))^{g(x)} = e^{\lim_{x \rightarrow a} g(x) \ln(f(x))}$
∞^0	$\ln((f(x))^{g(x)}) = g(x) \ln(f(x))$	$\lim_{x \rightarrow a} (f(x))^{g(x)} = e^{\lim_{x \rightarrow a} g(x) \ln(f(x))}$
∞^∞	Direct	∞

F(a)	Example
$\#$	$\lim_{x \rightarrow 1} \frac{x^2 + 1}{2x + 1} = \frac{1^2 + 1}{2(1) + 1} = \frac{2}{3}$
$\frac{0}{0}$	$\lim_{x \rightarrow 0} \frac{\sin(x)}{x} = \lim_{x \rightarrow 0} \frac{(\sin(x))'}{x'} = \lim_{x \rightarrow 0} \frac{\cos(x)}{1} = \cos(0) = 1$
$\frac{\pm\infty}{\pm\infty}$	$\lim_{x \rightarrow \infty} \frac{3x + 1}{x - 1} = \lim_{x \rightarrow \infty} \frac{(3x + 1)'}{(x - 1)'} = \lim_{x \rightarrow \infty} \frac{3}{1} = 3$
$\frac{\pm\infty}{\#}$	$\lim_{x \rightarrow \infty} \frac{x + 3}{6} = \frac{\infty}{6} = \infty$
$\frac{\#}{\pm\infty}$	$\lim_{x \rightarrow 3^+} \frac{x + 4}{\ln(x - 3)} = \frac{3 + 4}{\ln(0)} = \frac{7}{-\infty} = 0$
$0(\infty)$	$\begin{aligned} \lim_{x \rightarrow 0^+} x \ln(x) &= \lim_{x \rightarrow 0^+} \frac{\ln(x)}{x^{-1}} \\ &= \lim_{x \rightarrow 0^+} \frac{(\ln(x))'}{(x^{-1})'} = \lim_{x \rightarrow 0^+} \frac{x^{-1}}{-x^{-2}} = \lim_{x \rightarrow 0^+} -x = 0 \end{aligned}$
0^0	$\lim_{x \rightarrow 0^+} x^x = \lim_{x \rightarrow 0^+} e^{\ln(x^x)} = e^{\lim_{x \rightarrow 0^+} x \ln(x)} = e^0 = 1$
0^∞	$\lim_{x \rightarrow 0^+} x^{\ln(x)} = e^{\lim_{x \rightarrow 0^+} \ln(x) \ln(x)} = e^{\lim_{x \rightarrow 0^+} (\ln(x))^2} = e^{(-\infty)^2} = e^\infty = \infty$
∞^0	$\begin{aligned} \lim_{x \rightarrow 0} \left(\frac{1}{x}\right)^x &= e^{\lim_{x \rightarrow 0} x \ln\left(\frac{1}{x}\right)} \\ \text{and } \lim_{x \rightarrow 0} \frac{\ln(x^{-1})}{x^{-1}} &= \lim_{x \rightarrow 0} \frac{(\ln(x^{-1}))'}{(x^{-1})'} = \lim_{x \rightarrow 0} \frac{\frac{1}{x^{-1}}(-x^{-2})}{-x^{-2}} = \lim_{x \rightarrow 0} x = 0 \\ \text{and therefore } \lim_{x \rightarrow 0} \left(\frac{1}{x}\right)^x &= e^0 = 1 \end{aligned}$
∞^∞	$\lim_{x \rightarrow \infty} x^x = e^{\lim_{x \rightarrow \infty} x \ln(x)} = e^{\infty(\infty)} = e^\infty = \infty$